JIMIAT® JIVIAT S D ZFFENIEENG

= 1B & :5 13 f-“-l— TS'Z SD Series manual operator mechanism

FERE

AENBRENLESHRTHREERGHER , RARBNUEHRREIESM  EEATAHITEIOCHEMXARIE
@, BkiE. EEESFTNFNN , LTBTHREENEHIM~REEFIRNBE.

Main application

The manual operating mechanism, when used in conjunction with the pneumatic actuator, is a key component of the automation control system.
Its primary purpose is to facilitate the opening and closing of butterfly valves, ball valves, piston valves, and other similar valves with a 90° angular

stroke. This mechanism enables manual operation, but it can also be utilized in instances where manual drive is required for other automatic control
systems and mechanical products.

iR

1R8N, EEBR , RITEE , L

2 FRENN  BHEES RS ST, SHEITk. B575E.

3. RYIEEMABISOS21 LikiztnE , EROHATHE , TEASIL ; KHEENE320:1/450: 1EZRILBS M EE |
ERFRIEREIRES RRBRRENIE.

4. REIRAE | et lmOREL80° 8O0 RABE RN , LM ; k2, LIFD.

SR, RETREBE  SRINRSHMPUTHRERERE , BARS , ALK , BhiFERAIP6S5.

Product Features

1. Compact size, lightweight, well-designed, and modern style.

2. The product series offers a variety of output torque parameters and pneumatic actuators that can be easily matched with various valves.

3. The series connection conforms to the ISO5211 standard with a square tenon on the upper part and a square hole on the lower part. The high
torque mechanism with connection ratios of 320:1 and 450:1 comes with several key slots to allow users to select the corresponding position of
the product suitable for the valve body as per their requirement.

4. The limit pin can be raised to rotate the eccentric device 180° or 90° automatically, making the operation pneumatic or manual.

5. The product comes with a special lubricating grease when shipped from the factory, and after assembly with the valve and pneumatic actuator,
it is sealed together, providing dustproof, waterproof, and IP65 level of protection.

ZHEJIANG JIMAI
AUTO-TECH CO_LTD.

ISiBENtEEEIRAT]

IS Bt GRS ZHEJIANG JIMAI AUTO-TECH CO.,LTD.

etk TSR FERED t%E*D:I&kIZUJEﬁ(ﬁﬂH—?—E@NE) ADD: Zhoushan Road He er Industrial Area Oubei County Yongjia

N i Wenzhou Zhejiang Province China.
FBIE : 0577-67982225 67982226 {&H : 0577-67982224 Tel: 0577-67982225 67982226 Fax: +86 577 67982224
F#1 : 13600687110 M.P: 13600687110

Http: www.jimai-v.com  E-mail:sales03@jimaiv.com Http: www jimai-v.com  E-mail:sales03@jimaiv.com




ERFi e

Operating Instructions

PRAZEH

Limit Pin

Adjustment Bolts

HBF
Switching handle

Fi
Handwheel
FaiRE - RERUBENIRETF |, EieA LT BEFHRUME |
o WABREN , XEREIBITIRG |, HshFR AL EMXARE],
EEFE{%L%. Manual Operation: Lift the limit pin and turn the switching handle, rotating
Lift limit pin it upward on the left side to the manual limit position to ensure it's properly
in place. Then, the turbine worm gear engages, allowing you to open and
close the valve by turning the handwheel.
BERE : IRERAEENRIEF , Altm L TREBMRMUME
EREFH WABZEIG , XENREWBITIRE  BNFRETZE.

Left to Manual Automatic Operation: Lift the limit pin and turn the switching handle, rotating
it downward to the automatic limit position to confirm it's properly in place.
Afterwards, the turbine worm gear disengages, and turning the handwheel

results in idle operation.

iR ARIBF L TRINTREHARENSR | XEREBITRS
S, AEREFRHEREMRERSR,
Note: When rotating the switching handle up and down, there may be instances

of sticking, caused by the turbine worm gear engagement. Simply lightly shake
the handwheel to eliminate this sticking phenomenon.

AlEEED

Turn right to automatic

AR ES#] Technical parameter

BS EREL BNHE BHAE FHRER EE (kg)
Model Speed ratio Input torque Output torque Handwheel Diameter Weight
SD1 39:1 50 180 2180 £}
SD2 38:1 60 320 2200 4.5
SD3 36:1 90 680 0280 7
SD4 50:1 110 1200 2320 13.7
SD5 54:1 140 2100 @400 22
SD6 58:1 200 3000 @500 32

SDERFIFaNBRIENA

SD Series manual operator mechanism

SDRIISHEIFFENERASE

SD Series pneumatic valve manual mechanism technical parameter

S ATSUER (DA)  ATEM{ERI (SR)  HUTRRERE=

Model AT double acting

AT single acting  Actuator connection flange  valve connection flange

I ERE= LY

SD1 DA52-75 SR52-75 FO5/F07 FO5/F07 39:18
SD2 DA83-92 SR83-92 FO7/F10 FO7/F10 38:1
SD3 DA105-140 SR105-125 F10/F12 FO7/F10/F12 36:1
SD4 DA160-190 SR140-160 F10/F12/F14 F10/F120rF14 50:1
SD5 DA210 SR190-210 F14/F16 F10/F140rF12/F16 54:1
SD6 DA240-270 SR240 F16 F16 58:1

FEZER4#H] Main components and materials

Fs ZR w7k Fs
NO. Name Material NO.
{EEhE5H a2
1 Drive spindle Alloy steel 9
EETE THERRERZ
2 Seal ring Nitrile rubber 10
& AEEN(304)
3 Reed spring Stainless steel(304) "
255 =
4 Upper cover Aluminium alloy 12
EEH RE5EN(304)
5 Afastening Stainless steel(304) 13
NI aEmM
6 Positioning pin Alloy steel 14
Fi BN
7 Hand wheel Carbon steel polyster coating 15
Iz £ =
3 I TR 16

Seal ring Nitrile rubber

B/
Name
Lt
Worm gea

S
Plane bearing

FiR
Handle

mOE
Eccentric sleeve

EZiHE
Seal ring

R
Worm

1EENtF
Transmission rod
FER
Box

FRER etanfiabis]

Speed ratio  Handwheel Diameter ~ Output torque

®180 180
®200 320
©280 680
®320 1200
®400 2100
®500 3000
7
Material
BREEFHEL
Spheroidal graphite cast iron
7N
Bearing steel
AEEM(304)
Stainless steel(304)
AN
Alloy steel
TSR
Nitrile rubber
a2
Alloy steel
ka0
Alloy steel

a
Aluminium alloy




IMERIERRTE

Outline and connection dimension diagram

IMERIEIER T #E Appearance and Connection Dimensions Table

pich=}
Model

A

A ~«“ I O m m U N @

<
=

sQ.2

SD-1
150
70
44.7
60
@180
120
33
87
19
15
M8x4
M6 x4
70
50
14
@10x4
@8x4
70
50
14

SD-2
180
93
54
70
©200
132
39
93
21
19
M10x4
M8 x4
102
70
17
@12x4
@10x4
102
70
17

SD-3
200
113
65.5
80
@280
153
40
113
27
22
M12x4
M10x4
125
102
22
D14x4
@12x4
125
102
22

SD-4
260
129
82.5
105
@320
195
57
138
32
28
M1l6x4
M12x4
140
125
27
D18x4
D14x4
140
125
27

SD-5
310
163.5
109
115
@400
215
54
161
43
38
M20x4
M16x4
165
140
36
@22x4
018x4
165
140
36

SD-6
395
165
135
120

@500
236

62
174
54
46
M20x4
M16x4
165
140
46
@22x4




	页 1
	页 2
	页 3

